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4.4 Graphing log functions

a. logy32 b. Solve: Qlogz(x - 2):24
2 x—2 =00
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c. Condense: 2logx - 3logy + 8logw
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What is the relationship between £(x)=3"and 5@4053% ?
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Find the inverse.

() £67 In(x=2)+ 4

j = In (X—2)+ f“ 1. switch the x and y
—m 2. isolate the log
X = /ﬂ (g )-B 3. take the approp.

(X LD f\ [3 % base of both sides

4. solve fory
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Sketch. State the domain and range.

@ & /Dg (X)‘F I 1. Isolate the log
}j = 2. Change to exponential form

3. solve for x
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State the domain and the asymptote.
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